
【CET-4】新题型特训3
I. 翻译

[Model test 1] 假日经济的现象表明：中国消费者的消费观正在发生巨大变化。根据统计数据，中国消费者的消费需求正在从基本生活必需品转向对休闲、舒适和个人发展的需求。同时，中国人的消费观在蓬勃发展的假日经济中正变得成熟。因此产品结构应做相应调整，来适应社会的发展。另一方面，服务质量要改善，以满足人们提高生活质量的要求。

[Model test 2] 改革开放30 年来，随着中国逐渐崛起成为政治经济强国，海外人士学习汉语的现象与日俱增，海外孔子学院也成了人们学习中国语言和中国文化的首选之地。通过学习汉语，他们对这个和自己文化大相径庭的古老文明产生了浓厚的兴趣，而且有机会了解中国的哲学、艺术、医学、饮食文化，亲身体验这个文明古国的风采。作为第二文化，中国文化也丰富了他们的生活和世界观。可以说，这个潮流方兴未艾。越来越多的学习汉语的美国人除了对中国菜肴赞不绝口之外，也在尝试针灸，草药和武术。
II．阅读理解

[Sample 1] The decline in moral standards—which has long concerned social analysts—has at last captured the attention of average Americans. And Jean Bethke Elshtain, for one, is glad. 
　　The fact that ordinary citizens are now starting to think seriously about the nation's moral climate, says this ethics (伦理学) professor at the University of Chicago, is reason to hope that new ideas will come forward to improve it. 

　　But the challenge is not to be underestimated. Materialism and individualism in American society are the biggest obstacles. "The thought that 'I'm in it for me' has become deeply rooted in the national consciousness," Ms. Elshtain says. 

　　Some of this can be attributed to the disintegration of traditional communities, in which neighbors looked out for one another, she says. With today's greater mobility and with so many couples working, those bonds have been weakened, replaced by a greater emphasis on self. 

　　In a 1996 poll of Americans, loss of morality topped the list of the biggest problems facing the U.S. And Elshtain says the public is correct to sense that: Data show that Americans are struggling with problems unheard of in the 1950s, such as classroom violence and a high rate of births to unmarried mothers. 

    The desire for a higher moral standard is not a lament (挽歌) for some nonexistent "golden age," Elshtain says, nor is it a wishful (一厢情愿的) longing for a time that denied opportunities to women and minorities. Most people, in fact, favor the lessening of prejudice. 

　　Moral decline will not be reversed until people find ways to counter the materialism in society, she says. "Slowly, you recognize that the things that matter are those that can't be bought." 

1. Professor Elshtain is pleased to see that Americans ________. 
　　A) have adapted to a new set of moral standards 

　　B) are longing for the return of the good old days 

　　C) have realized the importance of material things 

　　D) are awakening to the lowering of their moral standards

2. Which of the following characterizes the traditional communities? 

　　A) Great mobility. 　　　　　　　　　　 

B) Concern for one's neighbors.
C) Emphasis on individual effort.
D) Ever-weakening social bonds. 
3. In the 1950s, classroom violence _______.

　　A) was something unheard of
B) was by no means a rare occurrence
C) attracted a lot of public attention　　
D) began to appear in analysts' data 
4. According to Elshtain, the current moral decline may be reversed ________.

　　A) if people can return to the "golden age" 

　　B) when women and men enjoy equal rights 

　　C) when people rid themselves of prejudice 

　　D) if less emphasis is laid on material things 
[Sample 2] First, Americans as a whole tend to be fairly provincial and take more of an interest in local affairs. Knowledge of world geography, for example, has never been strong in this country.    

   The word “provincial” most probably means _____.

   A) limited in outlook                B) like people from the provinces

   C) rigid in thinking                  D) interested in world financial affairs
[Sample 3] The fourth test required people to read a passage, then answer questions about it. Non-smokers remembered 19 percent more of the most important information than active smokers, and deprived smokers bested those who had smoked a cigarette just before testing. Active smokers tended not only to have poorer memories but also had trouble separating important information from insignificant details. 
The word“bested”(Line 3, Para. 5) most probably means _______. 

    A) beat        B) envied        C) caught up with        D) made the best of    
[Sample 4] The Ouchidas are victims of indoor air pollution, which is not given sufficient attention partly because of the nation's drive to save energy. The problem itself isn't new. “The indoor environment was dirty long before energy conservation came along,” says Moschandreas, a pollution scientist at Geomet Technologies in Maryland. “Energy conservation has tended to accentuate the situation in some cases.” 

The word “accentuate” (Line 5, Para. 3) most probably means “___________”. 

    A) relieve   B) accelerate    C) worsen    D) improve  

[Sample 5] Why are America's kids so stressed? The report cites two main causes: increasing physical isolation—brought on by high divorce rates and less involvement in community, among other things—and a growing perception that the world is a more dangerous place. Given that we can't turn the clock back, adults can still do plenty to help the next generation cope.

Question: 

What does the author mean when he says, "we can't turn the clock back"? 

　　A) It's impossible to slow down the pace of change. 

　　B) The social reality children are facing cannot be changed. 

　　C) Lessons learned from the past should not be forgotten. 

　　D) It's impossible to forget the past.   

[Sample 6] A status has been compared to ready-made clothes. Within certain limits the buyer can choose style and fabric. But an American is not free to choose the costume of a Chinese peasant or that of a Hindu prince. We must choose from among the clothing presented by our society. Furthermore, our choice is limits to a size that will fit, as well as by our pocketbook. Having made a choice within these limits we can have certain alterations made, but apart from minor adjustments, we tend to be limited to what the stores have on their racks. Statuses too come ready made, and the range of choice among them is limited.

Question：
By saying that “an American is not free to choose the costume of a Chinese peasant or that of a Hindu prince” (Para.3, Lines 1-2), the writer means ______.

A) different people have different styles of clothes

B) ready-made clothes may need alterations

C) statuses come ready made just like clothes

D) our choice of statuses is limited
[Sample 7] (此处略去5段)

“As our tests became more complex,” sums up Spilich, “non-smokers performed better than smokers by wider and wider margins”. He predicts, “smokers might perform adequately at many jobs—until they got complicated. A smoking airline pilot could fly adequately if no problems arose, but if something went wrong, smoking might damage his mental capacity.”

Question:

We can infer from the last paragraph that _______. 

    A) smokers should not expect to become airline pilots 

    B) smoking in emergency cases causes mental illness 

    C) no airline pilots smoke during flights 

    D) smokers may prove unequal to handling emergency cases 

[Model test]America's most famous woman is the Goddess of Liberty, i. e. the Statue of Liberty. It was first thought of in 1865 by Edouard de Laboulaye and designed by another Frenchman, Frederic Bartoldi. They wanted to      11     liberty and friendship.

It was hoped that the monument would be completed by 1876 when America     12        its centennial. Fund raising and the     13       of the statue in France went slowly. It was 1885 when the 214 crates containing the statue reached New York.

Americans were initially      14     for they had not raised the money to pay for the erection of the base. Fund raising by popular subscription was behind     15    . One fund raising method used was to have popular Americans write letters which were then sold in public.

The base and statue,      16     272 feet tall, were completed in 1886. From a     17      standpoint, the statue is a marvel. The inner structure was designed by the French engineer, Alexandre Eiffel. His design for the stressed copper skin of the statue anticipated many of the      18  utilized in modern aircraft.

After a century, the monument began to show signs of getting worse in     19    . Just as Frenchmen had created the Statue, so it was with restoration.

A Frenchman noted the decay and French and American craftsmen and contributions brought about the renewal of the Statue in time for its centennial. Liberty is still      20      in France and the United States.
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【阅读理解：匹配题】

Animals on the Move

A) It looked like a scene from “Jaws” but without the dramatic music. A huge shark was slowly swimming through the water, its tail swinging back and forth like the pendulum of a clock. Suddenly sensitive nerve ending in the shark’s skin picked up vibrations of a struggling fish. The shark was immediately transformed into a deadly, efficient machine of death. With muscles taut, the shark knifed through the water at a rapid speed. In a flash the shark caught its victim, a large fish, in its powerful jaws. Then, jerking its head back and forth, the shark tore huge chunks of flesh from its victim and swallowed them. Soon the action was over.
　　Moving to Survive
　　B) In pursuing its prey, the shark demonstrated in a dramatic way the important role of movement, or locomotion, in animals. Like the shark, most animals use movement to find food. They also use locomotion to escape enemies, find a mate, and explore new territories. The methods of locomotion include crawling, hopping, slithering, flying, swimming, or walking. Humans have the added advantage of using their various inventions to move about in just about any kind of environment. Automobiles, rockets, and submarines transport humans from deep oceans to as far away as the moon. However, for other animals movement came about naturally through millions of years of evolution. One of the most successful examples of animal locomotion is that of the shark. Its ability to quickly zero in on its prey has always impressed scientists. But it took a detailed study by Duke University marine biologists S. A. Wainwright, F. Vosburgh, and J. H. Hebrank to find out how the sharks did it. In their study the scientists observed sharks swimming in a tank at Marine land in Saint Augustine, Fla. Movies were taken of the sharks’ movements and analyzed. Studies were also made of shark skin and muscle.
　　Skin Is the Key
　　C) The biologists discovered that the skin of the shark is the key to the animal’s high efficiency in swimming through the water. The skin contains many fibers that crisscross like the inside of a belted radial tire. The fibers are called collagen fibers. These fibers can either store or release large amounts of energy depending on whether the fibers are relaxed or taut. When the fibers are stretched, energy is stored in them the way energy is stored in the string of a bow when pulled tight. When the energy is released, the fibers become relaxed.
　　D) The Duke University biologists have found that the greatest stretching occurs where the shark bends its body while swimming. During the body’s back and forth motion, fibers along the outside part of the bending body stretch greatly. Much potential energy is stored in the fibers. This energy is released when the shark’s body snaps back the other way.
　　As energy is alternately stored and released on both sides of the animal’s body, the tail whips strongly back and forth. This whip-like action propels the animal through the water like a living bullet.
　　Source of Energy
　　E) What causes the fibers to store so much energy? In finding the answer the Duke University scientists learned that the shark’s similarity to a belted radial tire doesn’t stop with the skin. Just as a radial tire is inflated by pressure, so, too, is the area just under the shark’s collagen “radials”. Instead of air pressure, however, the pressure in the shark may be due to the force of the blood pressing on the collagen fibers.
　　F) When the shark swims slowly, the pressure on the fibers is relatively low. The fibers are more relaxed, and the shark is able to bend its body at sharp angles. The animal swims this way when looking around for food or just swimming. However, when the shark detects an important food source, some fantastic involuntary changes take place. The pressure inside the animal may increase by 10 times. This pressure change greatly stretches the fibers, enabling much energy to be stored. This energy is then transferred to the tail, and the shark is off. The rest of the story is predictable.
　　Dolphin Has Speed Record
　　G) Another fast marine animal is the dolphin. This seagoing mammal has been clocked at speeds of 32 kilometers (20 miles) an hour. Biologists studying the dolphin have discovered that, like the shark, the animal’s efficient locomotion can be traced to its skin. A dolphin’s skin is made up in such a way that it offers very little resistance to the water flowing over it. Normally when a fish or other object moves slowly through the water, the water flows smoothly past the body. This smooth flow is known as laminar flow. However, at faster speeds the water becomes more turbulent along the moving fish. This turbulence muses friction and slows the fish down.
　　H) In a dolphin the skin is so flexible that it bends and yields to the waviness of the water. The waves, in effect, become tucked into the skin’s folds. This allows the rest of the water to move smoothly by in a laminar flow. Where other animals would be slowed by turbulent water at rapid speeds, the dolphin can race through the water at record breaking speeds.
　　Other Animals Less Efficient
　　I) Not all animals move as efficiently as sharks and dolphins. Perhaps the greatest loser in locomotion efficiency is the slug. The slug, which looks like a snail without a shell, lays down a slimy trail over which it crawls. It uses so much energy producing the slimy mucus and crawling over it that a mouse traveling the same distance uses only one twelfth as much energy. Scientists say that because of the slug’s inefficient use of energy, its lifestyle must be restricted. That is, the animals are forced to confine themselves to small areas for obtaining food and finding proper living conditions. Have humans ever been faced with this kind of problem?
　　1. A shark can use movement to find food, to avoid being chased by its enemies, and to find a new place to live.

　　2. Examples of automobiles, rockets and submarines are used to show that human inventions enable us to travel in almost any kind of environment.

　　3. The skin is the key to the shark’s swift locomotion in water.

　　4. According to the Duke University scientists, when bending its body in swimming, the shark stretches its collagen fibers to the greatest extent.

　　5. Because it is also inflated by pressure, the area just under the shark’s collagen fibers similar to a belted radial tire.

　　6. A laminar flow is formed when a fish swims slowly through the water.

　　7. Consuming the equal amount of energy as a slug does, a mouse can travel 12 times as long as a slug.

　　8. A shark finds its prey by feeling the vibrations of a struggling prey.

　　9. Collagen fibers can be compared to the string of a bow for both of them store energy when stretched.

　　10. When the shark detects an important food source, some fantastic involuntary changes take place.
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